4. For each J C U;Q,, let J, = J N Q,;. Then

m
J= 1 J;
i=1

5. Since XQl’XQQ"” ’XQm are mutually in-
dependent conditioning on X, so are le , XJ2,

Xy
6. Following (1), we have

p*a) = S oS m (x g xr)
JgUiQi =1
1=1J,CQ;

where a(J;) is the coefficient of H (XJ'L' |XT) in the
summation.

7. By simple counting, we obtain that

a(J;) = > (_1)|J7L|‘|’|L|‘|‘1
LU, Qj
_ (_1)|Jz'|‘|'1 Z (_1)|L|
LCU;iQj
= 0,
because

> (-nlfl=o

LU, Q;

by the binomial formula. Hence p*(A) = 0.

8. Now consider a general atom in Im(K):

k
A= N X,;|-X L
i=1jeW, ’ TU(U;_ 1 (Qi—Wy))

where W; C @Q, and there exist at least two % such
that W, # 0.

9. By Theorem 12.5, XW-l : XW2, SRR ’XWm are mu-
tually independent conditioning on X, XQl_Wl’

XQo—Wags ~ "+ XQppy— Wiy » i-€- the FCMI

k

holds. Then repeat the above argument to see that
p*(A) = 0.
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